For First Terminal Examination -2081

Class-10

Subject: Optional MathematicsCourse Contents:
1.Algebra: Function
2.Matrix: All
3.Coordinate Geometry: conditions for lines to be parallel and perpendicular
4.Trigonometry: Multiple anglesSub- multiple angles
5.Limit and continuity :all
6. Statistics :all

For Second Terminal Examination -2081
1.Algebra: Polynomials, Function
2.Coordinate Geometry: angle between two lines, pair of straight lines,
3.Trigonometry: transformation of trigonometric ratio, Conditional trigonometric identities
4. Vectors: all
5. Limit and continuity: all
6. Statistics: all
7. Matrix:all

For Third Terminal Examination-2081Course Contents

e Algebra: sequence and series.

e Coordinate: conic section, circle
e linear programming problems.
e Quadratic equation and graphs.
e Limit and continuity.
e Trigonometry: * Solution of trigonometric equation
e Height and distance
e Transformation: All
e Revision all chapter
EMBOCS NAWALPARASI
Specification Grid for First Terminal Examination-2081
Contents Topic KU |A |H A | Total Total
number of mark
Questions
Algebra * Function 212 (2 |1 7 16
Matrix all 11 |1 3 6
*Coordinate conditions for lines to be 1 1
Geometry parallel and perpendicular
Trigonometry * Multiple angle 202 |3 |- 7 15
* Sub — multiple angle
Statistics All 1 |2 3 8
Limit & All 1 1 2 4
continuity
Total 76 (9 |1 22 50
mark




EMBOCS NAWALPARASI
Specification Grid for Second Terminal Examination-2081

S. N | Contents Topic K|{U |A | H A| Total Total
number of mark
Questions
1 Algebra * Function 111 |1 4 10
* Polynomials
2 Matrix all 111 |1 3 6
3. Coordinate all 111 |1 4 10
Geometry
4 Trigonometry * Multiple angle 212 |1 6 9
* Sub — multiple angle
*  Transformation of
Trigonometric ratio
* Conditional
trigonometric identities
5. Vectors * Scalar product 1)1 2 3
* Vector Geometry
6 statistics all 1 ]2 3 8
7. Limit & all 1 1 2 4
continuity
Total 7|7 |7 24 50
Marks 7114 |21 50
EMBOCS NAWALPARASI
Specification Grid for Third Terminal Examination-2081
. Knowledge Understanding !_,_Tpplimtinn Higher ability | . . Total
SN Contents each of 1 marks | each of 2 I.TIEERH_;_ vach of 3 marks | each of 4 marks Fotal questions marks
1. | i (Algebra) 2 2 2 1 7 16
5 #rm#r A9 7 {4774 (Limit and 1 1 2 4
continuty) e
3. | #fz# (Matrix) 1 1 1 3 6
n faems® 7iata (Co-ordinate 5 i i | 5 -
Geometry)
5. | F#IHiE (Trogonometry) 2 2 3 7 15
6. | %7 (Vectors) 1 1 1 3 7
7. | BT (Transformation) | 1 1 1 3 8
8. | TATEF 9T (Statistics) l 1 2 3 8
aret ¢ wgen (Total questions) | 10 8 1 4 33 75




EMBOCS NAWALPARASI
Model Questions for First Terminal Examination -2081
Time
Group A 7x1=6

Sub: Opt : Math
Class:10

FM:50

1a. Define trigonometric function.

b) What is the maximum value of y=sinx.
2a) Write in sentence 2 f(x).
x-a+

b) Write the condition of two lines parallel.
3. a) Define singular matrix.
b) Express cos2A in term cosA.
4a) Write the formula to find sin3A.
Group B 6x2=12

5a.In the f= {(1, 2) ,(2, 3), (3,4) }and g= (2, a), (4, ¢) , (3, b) , then show the composite function gof in arrow
diagram and find it in ordered pair form.

b) If F(x)=8x+7 then find the value of fof(x) and fof(-2)
6a)If matrix Az[i g] Find the value of A

Sin2A-sinA
1—c0osA+cos2A 1 1
7a) IF sinA=; (m+.-) then prove that: cos2A= - (m2+m),

b) prove that: = tanA.

b) In a group data the quartile deviation and its Coefficient are 15 and ; respectively find first quartile.

Group C  9x3=27

8.1F f(x)=4x+5 , fog(x)=8x+17, find the value of g*(7)
9. If f(x)=2x-5 and g(x)=3x+1 are two function then find f1(x) and g*(x).
10.A real value function f:R— R is Defined by f(x) = 2x + 3

i) find the value of f(x) at x= 4.9, 4.99, 4.999.

ii) find the value of f(5)

iii) Is this function continuous at x = 5.
11. Solve by cramers method: 8x+11=3y and 6y-15=-2x+11

12. prove that: Tan(45°+A)=sec2A+tan2A

13. prove that : — S R

sin10° c0s10°

14. prove that: 4c0s*20°+4sin®*10° = 3(co0s20° + sin10°)
15. . Calculate the mean deviation from the median of the given data

X 0-10 10-20 20-30 30-40 40-50
f 2 3 5 4 6
16. Calculate the standard deviation from the given data.
Class 0-4 4-8 8-12 12-16 16-20
interval
Frequency 10 8 12 6 4

17

. Two functions are f(x)=

Group D 1x4=4

2x+5
8

THE END

and g(x)=3x-4. If (fog)™(x) is an identity function, find the value of x.




Sub: Opt : Math
Class:10

[EEN

EMBOCS NAWALPARASI
Model Questions for Secondary Terminal Examination -2081
Time
Group A 7x1=6

FM:50

1a)Define identity function.
b) Write a condition to be a continuous for a function.

23) If matrix A=(C ) find A*

3a) If 8 be the angle between the two straight lines whose equations are as
y=m,x+c,;and y =m,x+c,, then find the value of tan 6.
b) The slopes of two straight lines L1 and L2 are M1 and M2 respectively. write the condition of
parallelism of lines.

4a) Express sinA in term of tan g.

b) Write cosx+cosy into product form.

Group B 7x2=14
5a) If f(x)="=—, Find the value of f1(3).
b) Find the obtuse angle between the lines 2x-y+3=0 and x-3y+4=0.
6a)Find the value of D: and D> from the given equation y=2x, x+2y=10 by cramers rule.
sinf+sind 2]
2

b) prove that: mz tanz.

7a) Find the value of sin75° — sin15°.
b )The position vectors of A and B are P +2—J>_ and Py respectively. If the point P is the midpoint of

line AB, find the position vectors of point P.
8a) In a data , the first quartile and quartile deviation are 17.5 and 20 respectively. Find the third quartile and
coefficient of quartile deviation.
Group C 7x3=21
9. If f(x)=2x-4, then prove that (fof *)x is an identitity function.

3x+5 x <3
10, If (09 ={ 6x—4 x=>3
i) For x=2.9999, find the value of f(x)
i) For x=3.0001 find the value of f(x)
iii) Is the function f(x) continuous at x=3.give reason

11. Prove that: 2cos4A+1= (2cosA-1) (2cosA+1) (2cos2A-1)

12. Solve the equation by matrix method. 2x-3y=7and 4y-3x= -1

13. Find the equation of a pair of line through (2,5) and perpendicular to the line 5x+2y=7
14. . Calculate the mean deviation from the mean of the given data

X 0-15 15-30 30-45 45-60 60-75
f 2 7 10 6 5
5. Calculate the standard deviation from the given data.
Class 0-4 4-8 8-12 12-16 16-20
interval
Frequency 12 10 8 5 15

Group D 4x2=8
16.Find the equation of straight line passing through the point (3,2) and making angle Of 45° with line x —
2y—3=0
17. Solve: y3*-19y-30=0
***THE END****



EMBOCS NAWALPARASI
Model Questions for Third Terminal Examination -2081

Sub: Opt : Math Time FM:75
Class:10 Group A 10x1=10
H9F % Group “A° 10= 1=10

I e b s e s s e G i e A

Diefine triponomstric function.

CER FEEEEF A T b IEEm sem i 55 s S0 e
What 1= arithretic mean heboreen tovo nimnbersa and b,

S D M oot BRI e e i s B e A e

Write the name ofthe st ofnumbas which iz contimons.

s afzAfzer A=1" D& wm 1Al % mmoE o=
Ifmatriza = & 2&_ what is the valus of|A[T

F.9fE == T tEEm == =i 8 T smE e mo Tma 5y tand = =5 EEn
HAET, AT HELE A |
If the angle betwrean toro straight lines is8 and their slopes are mand e respectively,
write the formula to find the valpe oftang.

6. TIE FIEEE FETEE, UEE EETEE WEAT 0 T S seE T s T
AT Trm, HEEL |

Which geometne fipurewill be formed 1f a plane intersects a conspamallel toits baseT
Trite.

7. sin 20 |0 tan AT FUHET SR WHEEL |
Express s1m28 mm temns oftan
B. STOINET FIOTRT I SR |
Drefine angle ofelevation
o gfEd B isem SO wT AT B B T O ® T
What 1z the scalar product of tero weEcETs0 a.nd# if the angle betweenthan 1207

10. F=ig= 0 7 sd=m=r 9o 399 =1 f5ofm A= P =1 ginfs= P &z
OF. OF' 7 r %1_w==rg W&z |
IfF 1z the immage of P andr 1= radius ofcarelewith cantre O i an inversion tran=fonyation,
write the relatiom of OF, OF andr.

]



HYZ & Group B Ex 2= 16
LA 20 - 7w T4 k- 10 = (x-1)Q¢x) + R, 30 910 R 7 HIMEE Q) THT AATSHE |
27— Tx ¥4 5+ 10 = (x-1 )Q(x) + R, fmdtbcrumndctlllndwolmqn
2. Frgray wrwm wrar wfroay srrard
wmﬁm#qihu
Write down the incquality represented by the
shaded region in the adjoining figure.

13, REFTIER 4x - s)oztkvay-wmmmmﬂﬁx!, qurm
Fezefrarzese ST D, 7 D, 991 AR | >\

Find the determinants Dy and D; of cocflicient of .rnndy!iywhg(‘muﬂm!efmthe
equations 4x ~ Sy « 2 and 3x * 4y ~ 45

14, AMFTORE 3x Ay + S =07 6x + 8y + 7 = ommmawmm
TEREF] TEAA AT |
Fmddlcdopaofmwuﬂnllmhvbgewmh'lyr*-o-:d
6x + By + 7 = 0 and write the relationship betwoen them.

IS, sin6A cosdA ATE sine AT cosine BT A AT S=17H] FAr=17w T40H |
Convert sinbA cosdA into sum or difference of sine or cosine.

16. 977 2sin20 -Jsmeaimmmmph (0" 582 1807 )
If 2sin26 = V3, ﬁodlheulneofe (0° <8< 150%)

|7mmomﬁ§ﬂ-uﬁazbh=§gzamf~hw“mhﬁ?
1 et e o= ) (@ + B) w W T
O is the Grigfier in the given figure. If @ and b are the position
muﬁ&emnAmﬂ&M“hmvmmofo
gov-?uﬁ=-("*b)
tsfﬁmmmm(o» 35 7 A qAE (Qy) ~ 75 WU, wHaiig

faaaa 7 7@@ TWEFE T AWIARA |
In @ serics, the fiest quartile (Q1) = 35 and thind quartile (Q3) = 75, find the guanile
deviation and st's cocflicient.

HHE W Group “C 11x 3= 33

19, 9f2 3T FHARE [f(x) =TT 7 glx) = 3x —~ 4 UL = ) N(3) TN SOOITER 0

If two functions arc f(x) = ““Zand g(x) = 3x — 4. find (f = g) "(3)-

20. FEntEw fatazr 7= =0
Solve by graphscal mcthod:
2x2 v x—6=0.
21, ATFATTE A fix) = 2x + 3 B AT §2.99), {3.01) 7 (3) T "=E7T= TG0 m-
F W FTHA x - 3 W HiateE TR ¢
For a real valucd function fix) = 2x = 3, f-uithevnlue:of!!“”).l’(l()llau‘(!).kdus

i JOT COTITID at x = 37
nt@wmmnﬁmmmmm .
U'se matrix mcthod 10 solve 1the following sy of oy = NG

Ix+Sy=11.2x -3y = 1
23, FATETH 627 — xy — ¥ = oﬁmﬁ“mwwmm
7 1 rmres FEwwr Fvw o9fa g SwmEaEE -
Fmd&ecqmoflhep-roflmmmdwum&’-xy 7 = 0 and
also find the angle between them b
24, FHITET A 1 )
Prove that: l-:A-*ZImZAOchM‘“A
25 AT A-B+C~ wﬂ‘lmm
IfA+B+~C—xn", p-mdnlm’:\ =SB + sC ~ 2sinAcosBsinC
.mmmmmmﬂwﬁ@mmm
mmmmwvmmmmwr“-
m-mmrmm-ﬁ&mwmm.
Fm-plwgntbemle\dmfmzo"um the angle of clevations of the top and
bottom oF Mag stall &m high situated at the top of a tower are observed 607 amd 457
mmvdy Find the height of the tower and the distance between the base of the sower
mdlioullofobueﬂmtwa

nmrw(n :. } o)ﬁmw(

-

%

o 3 4

s ) o TNl | :)wm



19,

23,

HHF T Group “C 11x 3 =33
ufz 3T TEHARE [f(x) = T 7 glx) = 3x — 4 FWU(S = ) N(3) TN SOITER 0
=Zand g(x) = 3x — 4. find (f = g)" "(3)-

1If two functions arc f(x) =

. FEnt=w fatazey &= =0

Solve by graphscal meothod:
2x2 + x—~6 =0,

LAEATEE A fix) = 2x + 3 BT 0T f2.99), (3.01) 7 (3) T HSHTE T ATITAH 1

F W FTAA x - 3 H Hiatwg ek G
For a real valucd function fix) = 2x + 3, find the valucs of R12.99), l‘ts.ol;“ﬂ!l. Is thas
function combinuowss at x ~ 37

.ﬁfzwhfw&vﬂwnﬁmh!wmmm

Use matrix mcthod 10 solve 1he following sy of -

Ix+Sy=11.2x -3y~ 1
THATETH 657 — xy — ¥° = oﬁmﬁ“mmmm
7 | ramve= Eawr @rw ofa gwn awmEaEE e

Fmdﬁcqmofﬂnwo‘lmmldbydwm&l’-xy v7 = 0 and
also find the angle between them

. FHIEES AR

Prove that: tuaA‘ZmZA’lco‘M-“A

.TTT A+ B C - o 9T IS SR

IfA « B« € ==, prove that: sim®A — sin’H + sin’C = 2sinAcosBsinC

.mmmmmmmﬁwmmm

mommmwvmmmmom7u-
m.mmrmmmmqﬁmm.
Fm-plao_enjheym level in front of a tower, the angle of clevations of the top and
bottom of Mag stall 6m high situated at the top of a tower are observed 607 amd 457
m\ﬂy Find the height of the tower and the distance between the base of the sower
and point of obscrvation.

11 0O o 3 4

.mrw(o o 1)miwwmr=wv#pi1(o o1 :)mm

FTETATAZN 7 2«2 HiZa G AMTIARH 1
l-mdtbez-(zmninchmsfmmuw(o 3 : 2)w.p¢ullclogt-m

0o 3 4 1
001)




2%, frguely aomerady woaw Fas=sm 7 gwEy oares Sur SamEeErs
Find the mean deviation and its cocflficicent of the given data
GTETLE
g ; o-10 10-20 20-30 30-30 40-50
Prind wawn 2 3 o
(No. of students)

290, TTTUFT TENIFATZ TTNT THTT0 T ATMI AR -
Find the dard devi from given data.
: 0- 10 10 - 20 20 - 30
(Age)
E J s 10
(No. of Persons)

J ) '4
30 - 20 %0-50 |

|HHE 5 “Group D' ' 4x4~16
mmmmmmmua-mamm
1.6 7 18 WIEET SivETE SpeTee ST gem W AT SEEe e e |

mmof&mmsmm“hnencmuzd If 1, 6 and 18 are added to them
respectively., !bcmhsmmmdmﬂaddmm

31. MNWx?vmavuwmn-wsamvw
T A TTET | AFT FO B FT AETETA
F ey oarv oy 12-07 X #1 FIwaE (—s 3 :
WA A AT HEATECN G AMITAIH | :
In the given figure. X and ¥ arc the center of circles
A-ndarupccuvely Circle A passcs through the
calueY_ofdn_eafcleB If the equation of the circle
Bisa &7 4r + 65 - 12 ~ 0 and the coordinales of X is {—4,5). find the equation of
the Sircle AL

32, ey Tafedy gdra of o ofs wniwer gwees worfasgee g e e

1
By using vector method, prove that the quadrilateral formed by joining the midpoints of
adjacent sid

of a quadnl 1 is a paraliclogram.




4

33 =T W DT A FT INIEEE AT T ATHT IRTEEE A7 W The image ofthe

triangle 4 iz A’ andimage of A" is A n the ziven zraph

(P B MANETSTEIA L L L
T IR AT TR HHE I BEH 9E HIN I R R i’
FITET AE00 | By what e R I S ~
transformationthe imageofthe 11—/
triangle A iz A" Write with : = =4
reason. SRR S S
(W) BEBIANETEA BIAT r«’ e A
AT TS B g R
wTERT dEpdE  Bywhat | [
transformationthe image of the ) B50 135 5
 SZETERE B T ( S

() MEELE AR 545 AN Eea M A TS

FITEREST S5 | Write the name of transformation which denotes the combinad
trans formation of 2bove two trans formadons ? Writewith

T T e esssssssssssssssssssssSe e



